[P —F] #HEHRREEER Ak, —iR2HEF]

[E3

#

S

| ERRBEAR 1 (SREREER)

i

Oi%

1~4

5~9

10~14
15~19
20~24
25~29
30~34
35~39
40~44
45~49
50~54
55~59
60~64
65~69
70~74
75~79
80~84
85~89
90 LA L

&
65m Ll L (Fi8)
70 Ll E (FB48)
75m Ll Lt (Fi8)

[EERER2  (10EBRER

i

O0~45E

5~14
15~24
25~34
35~44
45~54
55~64
65~74
75~84
85m Ll L

&
65m Ll L (Fi8)
70 Ll E (FB48)
75m Ll L (Fi8)

[BEDARDEE

ok
BEDARRHY
BEDABREL

|[BEARETOHAM

b
0~10H
11~208
21~30H

[CREEERN——_XEEBEN

r\%\ﬁ
“RERENAN
— REFRE

KIRBRD H
XBIZIE, FEFEET,

|72 B EAR 1

ok
0~14H
15~30H
1~38
3~6HA
6ALLL
&

|7EBEHARS 2

T
s

EEDYES

e
BEERZEENR
BiRERBAEN
ZDDIBEEE
AR—Y R DEH
BnfEl - 8n0%
ZDMDFEDEHK
815

ftafs

s

[FHEE QKR

:‘%*ﬂ

BEFFXRDIAILA(HBV) E4E

CERIFF X4 ILA(HCV) B

BEIFXAIAMILR(HBV) RUCEIFRXDAILA(HCV) EBIZEH
BEIFXADIAILR(HBV) RUCEFXRIAILA(HCV) EHIZIEH

EX0oEES

X
FMiA
S

EGE2

e

[ BB i

B R F 1l

BrRE S fiT

7 B8 R F (AR ER)
RERRSR T F il
FREER T F il
ZDMORARE T Fil7
2 B2 B I & TR i

Z Dfth




[(P3—F] #EHEEEEH Rk, —

L=/
1% G2

28]

[EIRE QIR

BEDZZ
MEDZZ
MAEICLYHEE
PERFERNOZE
SEBRNDZE

PREMAOZE
DRBENOZS

ESCERAEFICIOIMENDRZ

| A BRI D 5T

RIE
éﬂmlq_ﬂm
fth D iR - 2T @&
T-‘EIEJ%(HHF'EL:’)J% SEEES)
Z D1k
fth D iRE - BT AR
Hhig = X 1R R bR - 45 TE B BE TR P
Z DD FEkE
uAﬁm

EEANRERERICART
/Tnx%k*m*ﬂ:jﬁuxl )\Fﬁ'
HEEAFEER I ART
Z M (AR - REAE)

B

LRIEZDITES%

REE

=] ] 5

fth D fE ke - 2 AT 1< &R
HEEEGIMZE-FEEES)
ZDith

fth D FEkE - 2 ERT I ARR

Hh 128 = R 2 1R TR Bt - 45 TE A BE TR Pt
Z D th D Jw k5

BT

N EEE NMREREERICAFT

N & E ABUTEERIZAFR

S BULTEERIZAFT
ZDM (BT - FERE)

[Bm 5

MAMERSERIZSR

ERAS 5

MHEMERAERIESR

L RE

MHERTERIESR

BN 4E

MAMERSERIZSR

[EREXS 5

MATMERSBRIZSR

[RERFRE

e

20-49FK

50-99

100-199
200-299
300-399
400-499
500-699
700FR LA E
300-499(F18)
800FK LA L (F518)
900K LA E(FB#8)

MIRFEDH

[FEEE DFEER

el

FER LR

FrEHRE Rl

BERKERY Skt

Hh 15 BE 5 2 4R R e

—f&gmhE (LR LIS
— AR EO R

(EREEXIFE

I\%&
LHEEHEDR
RERERR- SELFESEN)
ERARR - SRAFHSFRE)
EREZRAKR
BB E ER
=i E ER (RIS E ERHE)
FHBREE - DNBHKE
BEEBEREREE
Z Dt
NEEEDH
NERRDH
% SRENERIRDHA
BRPFEDFHRVBREIEDEEFIHT SERICET HiEE(EBIS)
FERREEMEHESEGILICEY 5EE BEAR) (B8
EEEBIXEE(FRER. EEER) (B8)
HEREL (EREKE) (F18)
DD AERBIZLHELD (BB
T EERIR (FBE)

[BEEDIEEE

el

FEIR R

& SE o3 IR

FERZIA R

BERR

BER IR (ERRIRERRK)
BB R (97 38 RIRE R R)
— & R (i)

— RSB

BERR

B (ERRRERRK)
BERIK (N ERIRERARK)
— HE 7 bR (— AR ESFRFIT)

[FZEE

I\§&
Ak
BESEE
T DD E
HRE AT IR
i ETAf
w75 IRILITHURA
Z DD N E RS
#2REREREE
NIEEN
EREA
ZDDIEAN
=t
BA

EEHE (BiS)
— AR
BA
Z DAt

EER R VRIS (3K E (HBRR - S ME E) - SIEMmE) &
ZDMDEELDHAEHLE]

3% B (FERE - = ME (GE) - S EME)

(HB\8)

SEEDH

SEE+EmMMELES

3B+ KEER

S E+EAEMREHIREE

3ﬁ%+kﬁmﬁ%

SEE+HIEHE

3ﬁ%+FMEmﬁ$+m Arh
SEE+EMME RS+ FAEMREBIIRES
SEE+EMMELERE+ KEREE
SEE+EMENMEE+HEBETTS

S E+HINER+HEAEEREEIRE S

3K E +INED+ KEARE SR
SEE+NER+HEEETRSE

& B+ EAEMREIIRE R + KBARE R
SEE+FAEMEREIREE+HIEEETSE
SEE+RXFREE+HEEETS
SEE+EMMERE+NZED +FAEMEREBAREE
SEE+EMME RS+ INZED + XBRESR
SEE+EMMENVEE+REZER+HEHBEFE
SEB+EMMENEE+INZEF+EAEMREBIREER +j<§JJHI|’U9E
SEB+EMENMVEE+INEF+EAEMREIIRERE HERE
SRS+ MmO AR E 4 N ¢+ﬁ§ﬁ$ﬁﬁ%ﬁ$+kﬁmﬁ$+&E“Té

| &8 12 |
BRI R RE 125 1R
= XEEE

AR RE 2SR



